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10 xfv5, flav=10b, z=1x10"* " xf v6, flav = b, =1 x10"*
xfv5, flav=10b, z=1x10"% xf v6, flav = b, =1 x10"°
10" .
xfv5, flav = b, z=0.0000 """ xf v6, flav = b, £ =0.0001
1 0'14 N xfv5, flav = b, =0.01 xf V6, flav = b, =0.01 i
xfvs, flav=9b, =01 " xf v6, flav = b, 2 =0.1
-16 | |
1 0 xfv5, flav="09, 2z=02 " °°° xf v6, flav = b, =0.2
-18 xfv5, flav="0, 2=05 7 xf v6, flav = b, 2=0.5
10 " )
xfv5, flav = b, 2 =0.8 xf v6, flav = b, 2 =0.8
-20 . . .
10 l l 2 l 3
10 10 10 10 10

Q



|fo—1f51/(1f5] +e€)

10

10

ML
xfacc, flav = b,
xfacc, flav = b,
xfacc, flav = b,

xfacc, flav = b,

z=1x10"%

z=1x10"°

z=0.0001

z=0.01

xfacc

xfacc

xfacc

xfacc

, flav =0,
, flav = b,
, flav = b,
, flav = b,

z=0.1

r=0.2

r=0.5

r=0.8

10




z f(2,Q)

200

150

100

50

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

xf v5,

flav = b,
flav = b,
flav = b,
flav = b,
flav=1>5
flav =
flav="5
flav =

o1
q=10
q=>50
q=1x10?

g=2x10?

, ¢=5 x10?
b, ¢=1x10°

, ¢=2x10°

b, =5 x10°

T
xf v6, flav = b, ¢=10

xf v6, flav = b, =50

xf v6, flav = b, ¢=1 x10?
xf v6, flav = b, =2 x10°
xf v6, flav = b, ¢=>5 x10?
xf v6, flav = b, ¢=1 x10°
xf v6, flav = b, ¢=2 x10°

xf v6, flav = b, ¢=>5 x10°




|fo—1f51/(1f5] +e€)

10

——
- xfacc, flav = b, ¢=10 — xfacc, flav = b, ¢=>5 x10?
- xfacc, flav = b, ¢=50 - xfacc, flav = b, g=1 x10°
— xfacc, flav = b, =1 x10? — xfacc, flav = b, =2 x10°
xfacc, flav = b, ¢=2 x10? xfacc, flav = b, ¢=>5 x10°
I ]mll“m I
10 0° 10° 10° 10° 10 10° 10

T



z f(z,Q)

ol ol ol
2
107 1 .
0 i
107 1
-2
107 i
-4
10 ° )
-0 a
10
-8 .
107
-10 - = S8 e - _8
10 xf v5, flav = b, z=1 x10~% xf v6, flav = b, © =1 x10
12 xfv5, flav="0, z=1x10"% xf v6, flav = b, =1 x10"°
107 1 L ] i
xf v5, flav = b, =0.0001 xf v6, flav = b, 2=0.0001
1 0'14 n xfv5, flav = b, =0.01 xfv6, flav = b, ©=0.01 -
xfvs, flav="%6, =01 77 xfv6, flav = b, ©=0.1
-16 | i
1 0 xfvs, flav="5%,z=02 7777 xfv6, flav = b, =0.2
-18 xfv5, flav="0,z=05 77 xfv6, flav = b, 2=0.5 ]
10 "
xf v5, flav = b, £=0.8 xf v6, flav = b, =0.8
1 0-20 1 ol 1
2
10 10 10 10 10



|fo—1f51/(1f5] +e€)

10

10

ML
xfacc, flav = b,
xfacc, flav = b,
xfacc, flav = b,

xfacc, flav = b,

z=1x10"%

z=1x10"°

x=0.0001

z=0.01

xfacc, flav = b, £ =0.1
xfacc, flav = b, =0.2

xfacc, flav = b, ©=0.5

xfacc, flav = b, =0.8

10




